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_Question 1 (1 mark) Define p ina hypothesis‘test_ EEE

Question 2 (4 mark) The average 1Q score in the Canadian population is 100. The director
general at Dawson College claims that Dawson students have on average, a higher IQ than the
average Canadian. A random sample of 50 Dawson students are sampled, their mean 1Q was
found to be 106. If the standard deviation of Canadian 1Q scores is o= 3.5, test the director
general’s claim about Dawson IQ scores at 5% significance.

Question 3 (5 mark) Suppose the actual Dawson student 1Q score is 101. Find B for the above
hypothesis test.
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